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Centity l1ab8_part2 is Lkl 1'*7932?
B port( :
i_clk: in std_logic; i data[7.0] (> T —
i_we_b: in std_logic; i_addr[4..0] [ —ENAT DATAQUT[7..0] e
i_addr: in std_logic_vector(4 downto 0); RADDR[4..0]
i_data :1in std_logic_vector(7 downto 0); WADDR[4.0] 7:4
o_addr_sseg_A: out std_logic_vector(6 downto 0); i_we_b[ >————qWE
o_addr_sseg_B: out std_logic_vector(6 downto 0}; SYNC_RAM Faual?9
o_data_sseg_E: out std_logic_vector(6 downto 0); 74 ABO e
| y o_data_sseg_F: out std_logic_vector (6 downto 0) m@om
end; ’
T ws
#  flab8_part2_tb/CLK T
£’ /lab8_part2_tb/ADDR [00100 O O O o 0000000000
/lab8_part2_tb/DATA |00000000 00000000 0000000 00000000000 00000000
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flab8_part2_th/SSEGB | 1111111 1111111 omeor [ Toung  afmoor [ anmn T 11001 1. ]
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IR Cycle through

Cycle through

Cycle through

write write data write
pentity lab8_part2_del0 is
B port( e
CLOCK_50: in std_logic; :
Sw: in std_1 ogw‘c_vector (9 downto 0); swio.01 [ lab8_part2:DUT
KEY: in std_Tlogic_vector (0 downto 0); clk_1hz:CK
4:0_addr{4.0] _addr_sseg_A[6.0]
HEXO: out std_logic_vector(6 downto 0); b 5OMH K 1 = ” - addr — o0 {> HEX0[6.0]
HEX1: out std_logic_vector(6 downto 0); CLOCK_50[ » id z oce e < o_addr_sseg BI0.0] [ HEX1[6.0]
HEX4: out std_logic_vector(6 downto 0); KEYIO.0 i_rstb |8 8,817 o_data_sseg E[6.0] HEXAT6.0
HEX5: out std_Tlogic_vector (6 downto 0) [ ]D—‘ 9 - D [6.0]
L . i_we_b o_data_sseg_F[6.0]
Sintic [ HEX5[6.0]
end entity;

Only 4 data input switches but data is 8 bits wide | doubled up on the input bits b3 b2 b1 b0 to form

the data input b3 b3 b2 b2 bl b1 b0 b0 e.g. if | input 1010, | store 11001100 and read out CC
CE 1911 +
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